Part - |,

=1 el 4 o9 R gfaa 787 @

1) RAM (}¥)

2) fHfesd foh

3) ROM (M)

4) ward S g”a

BRI T o fed 9 B e
9 Ifere ©

(1) o=
(2 feur
(3) WNIGMETS
(4) |QFTId

(
(
(
(

TR TONd & T § 91 9 ©

EQ.x10.
100

EQ.

(1) A4.0.=

xlOO

() AQ—

(3) A.Q.:gg x 100

(4) A4.0.=(EQ.+10.)100

o 'Y ° vt fear

(1) Il R &R

(2) Ul TR YRTG R

() W SHT W

(4) SR IRT & TP B W

8

= ¥ 99| R A, B, C Ug
W|Wﬁﬂﬁwﬁaﬁ
S gl dRE @ 9w R @)
BT qof Har &

G977 -

D

“ﬁ%

30| [pC

Of the given options which is not a
storage device

(1) RAM
(2) Magnetic Disc

(3) ROM

(4) Floppy Disk Drive

. Which district of Haryana state has the

highest population
(1) Jind

(2) Hisar

(3) Faridabad
(4)

Sonepat

. Which of the following is true for

Achievement Quotient

EQ.x1.Q.

(1) 40.==="

EQ.
2) A.0.= x 100
() A4.0.= 10.

_19.
3) A.Q.—E.Q. 100
(4) A.Q.=(EQ.+10.)100

King Harsha ruled over
(1) the whole of India

2) the whole of South India

)
(8) the entire Deccan region
4)

4) a part of Northern India

Study the problem figures A, B, C and D
carefully. From the answer figures pick
out the figure which most appropriately
complete the series of problem figures

Problem Figures :

(E

O

A B

HO | |0 | D) 16K

(1) (@) (3) (4)

A B C D

D=C]4] (3)




10.

Past participle form of verb 'smite’
(1) smite

2) smote

(2)
(3) smitten
4)

4) smote, smitten

frifea sse ¥ 9N &1 AW G99
P

TqTfa —

(1) TGy

(2) HHIRY

@ f&7

(4) I

ST 99 3sg 78] 81, SS9 Bifey

(1) TR
(2) TaRR
(3) STaTHK
(4) Ta

e FAASTe FI ¥ Wed HH
T BT ©

(1) SHTSIAf

() femferae Aers

(3) THARITH

(4) fawrarHs fafer

s 9% Sl MRAN™I gRT Garfea fear
T

(1) Ul A §6

(2) oy §&

(3) ¥ARY d&

Part - I/A/21

(4)

10.

Past participle form of verb 'smite’
(1) smite

2) smote

(2)
(3) smitten
4)

4) smote, smitten

frifea see ¥ 9HN &1 AW G99
PIfTg

TqTfa —

(1) TGy

(2) HHIRY

@) f&7

(4) I

Find the odd word that does not belong
to same category

(1) September
(2) November
(8) October
(4) January

Which of the following is least used in
educational Psychology

(1) Sociometry
(2) Differential Method
(3) Ethnography

(4) Developmental Approach

The first bank managed by Indians was

(1) Punjab National Bank

(2) Avadh Bank



11.

12.

13.

(4) dome vd Rig 9@

o &« e @

(1) sﬁo@oﬂﬁo

(2) WREHTH

(3) TRreqoT /A

(4) fsar

$TH 9§ B9 B g9 BT A9 FI ATl
# YA FHA 91T P T

(1) & T
(2) <U T
(3) IS a9
(4) R a4

= W 99T I A, BTG C Bl |GH3W |

SR 73 4S9 i @1 gig &t et
We § 9w i & goer & gt

&l 8l
® [ ]
O o

G977 -
a
o
A B C
aav =2 -
Q o

l! . ! O
() (]

(1) ) (3) (4)

14. Choose the correct meaning of the word

in inverted commas :

He has a 'penchant' for using high
sounding words in his speech.

(1) liking; inclination
(2) habit
(3) whim
(4

) craze

15. f@ W v & oy @ swt gfe

Part - I/A/21

(5)

(8) Benaras State Bank

(4) Punjab & Sind Bank

11. Find odd one out
(1) OHP
(2) Plastigraph
(38) Teaching Machine
(4) Radio

12. Which of the following worms enters the

intestine by penetrating the skin
(1) Hook worm

(2) Tape worm

(8) Thread worm

(4) Ring worm

13. Study the problem figures marked A, B and
C carefully. From the answer figures pick out
appropriately

the figure which most
completes the series of problem figures

Problem Figures :

14. Choose the correct meaning of the word

in inverted commas :

He has a 'penchant
sounding words in his speech.

(1) liking; inclination
(2) habit
(3) whim
(

4) craze

15. f@ W v & oy @ swt gfe

P.T.O.

for using high



16.

17.

18.

19.

Sirel 9 frecaq awy yefRfa &var 8

@ T U S @

(1) gfgafer &1 Suavo

(2) WTHINTE WX AT SYBROT
(3) WiRT®HI favelyor SyHRoT

(4) DTYCX IIIRA

ffifes @ @ 3t &
(1) Eha B F

(2)

(3) faferw gRa 3
(4) =T TSI A

IR Toldolvey FlfBiT o

TH UI-URId &) TP g 3e uR fha
gfeaat iR W™ 81 ©

(1) 65356 — 256
(2) 65536 — 256
(3) 66536 — 255

(4) 65536 —225

20. YIYT & IR YR Fa¥IH 7fed fear o=
TAT ST HIF-T AT
(1) 9f¥=g| €I
(2) M <
Part - I/A/21

(6)

16.

17.

18.

19.

20.

Select a pair that expresses the
relationship that is most similar to that of
capitalised pair

STUDENTS : MARKS : : ......... © e

(1) Teacher: Class

(2) Pen:Nib

(8) Scholar : Book

(4) Waiter: Tip

SPSSisa

(1) Tool of measuring 1.Q.
(2) Social status survey tool
(8) Tool of statistical analysis

(4) Computer virus

'Penicillin' was discovered by

(1) Michael Faraday

(2) Sir Alexander Fleming

(3) William Harvey
)

(4) Charles Goodyear

How many rows and columns are in a
worksheet of MS-Excel

(1) 65356 — 256
(2) 65536 — 256
(3) 66536 — 255

(4) 65536 —225

Which state enjoys the distinction of
being the first linguistic state of India

(1) West Bengal

(2) Andhra Pradesh



21.

22,

23.

24.

25.

(3) dferTrg

(4) °oIrd

T W% X fafed @ @vs © & A
Al 21 I§ A orar IR @usl (1), (2),

@) dar 4) ¥ ¥ fofl to @vs § g
BT 2 1 S WS Pl YgATY

N <

X (1) ) 3) (4)

Unfortunately he took the road
.................. led in the wrong direction.

frifea weal § 9 U@ ¥ AdgYa
BT AT HIFTY
(1) fpars

2) PR
(3) PHC

(4) B3

yefas (?) @ fay w8 e Tasy

AGLPS?
(1) X
@ Y
@) w
(4) U

TR IR & e | T 9 78]
g

(1) 983 femed

(2) Imari =y

Part - I/A/21

(7)

21.

22,

23.

24.

25.

(8) Tamil Nadu

(4) Punjab

There is one block on left hand side marked
X' which has the basic design. This basic
design is hidden/embedded in some
position in one of four blocks marked (1),
(2), (3) and (4). Find out that block

N i ) <

Unfortunately he took the road
.................. led in the wrong direction.

frifea ol § 9 U@ ¥ AdgYa
BT AT HIFTY
(1) fpars

2) PR
(3) PHC

(4) B3

Select the right choice for question
mark (?)

AGLPS?
1 X

@ Y
(3) w
(4) U

Which of the following is not true about
Mudaliar Commission

(1) Multipurpose Schools
(2) Residential Schools

P.T.O.




26.

27.

28.

29.

Part - 1)

(3) & v 9=
(4) dfered FEET

PG 2 WOR BT G99 Il o
(@) s B

(1) =

() =4

(3) 3megferar
(4) BT

FHIE BTG SR ST WA BT &

(1) e &g
(2) fdeH =g

(3) dufdeded ez &g
(4) TRBHYE WA 7Y
AR XToTqE o

(1) [P &1

(2) Voldol~sR Pl
(3) IR P
(

We 9 W H ot
ST Bl
Q<
P

(1) (2) (3) (4)

(8)

26.

27.

28.

29.

(8) Three Language Formula

(4) Educational Equality

Which country is building the world's
longest tunnel

(1) China
(2) Russia
(3) Australia
(4) Canada

Computer Assisted Instruction is used
for

(1) Instructional Purpose
(2) Guidance Purpose
(3) Individualized Instruction

(4) Performance Appraisal

Megasthenese was the ambassador of

(1) Seleucus
(2) Alexander
(8) Darius

(4) The Greeks

Study the problem figures A, B and C
carefully. From the answer figures pick
out the figure which most appropriately
completes the series of problem figures

Problem Figures :

Sl )¢

Ancwurav Cinnivan «

L] |52

(1) @) (3) (4)




30. Giving up wrong habits is not self-
sacrifice, ...ccvvevievnnnn self-culture.
(1) also
(2) but
(3) in
(4) only

31. f=ifea gerar o1 oref W & & forg
TR e R W 8, el ISugE
fawed &1 999 BT &
BITST Bl BT —
(1) BT BT Bl 7 F T
(2) et forer
(3) BTl BRI WR forg
(4) HIA AT G

32. 91 # @ BT IRW B, A qAT
Mog-ugred & Red & J99 = o_E
TRAT B (Ml BT MBR Sudad &l
JMUfRTH MHR LT <wTar 8)
INe!s

O O
@® O
w (O
O
Part - I/A/21

(9)

30. Giving up wrong habits is not self-
sacrifice, ...cocvvevievnnnn self-culture.

(1) also
(2) but
(3) in

(4) only

31. fr=ifea gerar o1 oref W a1 & forg
TR o A W 8, el SugE
fwea &1 a7 B ©

o] Pplel pNdl —

(1) BT BT Bl 7 F T

(2) et forer

(3) BTl BRI WR forg

(4) DI IS AT

32. Which of the following diagrams best
depict the relationship between Fruits,
Fish & Eatables (The sizes of circles do
not indicate relative sizes of above)

o (O

P.T.O.



Instructions (For Q. Nos. 33 to 37) :

Read the following extract carefully and answer the
questions that follow by choosing correct answer :

People talk of memorials to him in statues of
bronze or marble, or pillars and thus they mock
him and belie his message. What tribute shall we
pay to him that he would have appreciated. He
has shown us the way to live and the way to die,
and if we have not understood that lesson, it
would be better that we raised no memorial to
him, for the only fit memorial is to follow
reverently in the path he showed to us and do
our duties both in life and in death.

He was a Hindu and an Indian, the greatest in
many generations, and was proud to be an Indian
and a Hindu. To him India was dear because it
represented throughout the ages certain
immutable truths. But though he was intensely
religious, and came to be called the Father of the
Nation which he had liberated, yet no narrow
religious or national bonds confined his spirits.
And so he became the great internationalist,
believing in the essential unity of man,
underlying the unity of all religions, and the
needs of humanity, and more specially devoting
himself to the service of the poor, the distressed
and oppressed millions everywhere.

His death brought more tributes than have
been paid at the passing of any other human
being in history. Perhaps what would have
pleased him best was the spontaneous tributes
that came to him from Pakistan. On the morrow
of the tragedy, we all forgot for a while the
bitterness, the estrangement and conflict, and
Gandhiji stood out as the beloved champion and
leader of the people of India; An India as it was
before the partition cut up this living nation.

33. He was called 'Father of the Nation'

because
(1)
2)
3)

He liberated India
He worked for the benefit of mankind

He devoted his life to the service of
poor and distressed everywhere

(4) Proud of being an Indian for him India
represented everlasting immutable

truths

Part - I/A/21

(10)

Instructions (For Q. Nos. 33 to 37) :

Read the following extract carefully and answer the
questions that follow by choosing correct answer :

People talk of memorials to him in statues of
bronze or marble, or pillars and thus they mock
him and belie his message. What tribute shall
we pay to him that he would have appreciated.
He has shown us the way to live and the way to
die, and if we have not understood that lesson,
it would be better that we raised no memorial to
him, for the only fit memorial is to follow
reverently in the path he showed to us and do
our duties both in life and in death.

He was a Hindu and an Indian, the greatest in
many generations, and was proud to be an
Indian and a Hindu. To him India was dear
because it represented throughout the ages
certain immutable truths. But though he was
intensely religious, and came to be called the
Father of the Nation which he had liberated, yet
no narrow religious or national bonds confined
his spirits. And so he became the great
internationalist, believing in the essential unity
of man, underlying the unity of all religions, and
the needs of humanity, and more specially
devoting himself to the service of the poor, the
distressed and oppressed millions everywhere.

His death brought more tributes than have
been paid at the passing of any other human
being in history. Perhaps what would have
pleased him best was the spontaneous tributes
that came to him from Pakistan. On the morrow
of the tragedy, we all forgot for a while the
bitterness, the estrangement and conflict, and
Gandhiji stood out as the beloved champion and
leader of the people of India; An India as it was
before the partition cut up this living nation.

33. He was called 'Father of the Nation'

because
(1)
2)
3)

He liberated India
He worked for the benefit of mankind

He devoted his life to the service of
poor and distressed everywhere

(4) Proud of being an Indian for him India
represented everlasting immutable

truths



34. Some of the virtues of the great leader
are
(1) He believed in the essential unity of all
men
(2) Devoted himself to the service of the
poor
(3) Had no narrow religious or national
boundations
(4) All of the above
35. The distinction between the Hindu and an
Indian is made, because the person
being discussed is an
(1) untouchable
(2) orthodox Hindu
(3) international leader
(4) He does not believe in religion and
casteism and is proud of being an
Indian
36. We can pay sincere tributes to him by
(1) Following his path of truth and non-
violence
(2) Writing articles about his virtues
(8) Making his statues
(4) Inscribing his messages on pillars of
marble
37. After his death, the thing which would
have pleased him was
(1) He was killed in India
(2) He was killed by an Indian
(8) India and Pakistan had already been
divided
(4) There was sorrow and mourning for
him, both in India and Pakistan alike
38. TH UV - YT § U1 (function) fadea
JUReT &
(1) 3% g &
(2) zc A A
(3) Wivc g #
(4) ot = A
Part - I/A/21

(11)

34.

35.

36.

37.

38.

Some of the virtues of the great leader
are

(1) He believed in the essential unity of all
men

(2) Devoted himself to the service of the
poor

(3) Had no narrow religious or national
boundations

(4) All of the above

The distinction between the Hindu and an
Indian is made, because the person
being discussed is an

(1) untouchable

(2) orthodox Hindu

(3) international leader
(

4) He does not believe in religion and
casteism and is proud of being an
Indian

We can pay sincere tributes to him by

(1) Following his path of truth and non-
violence

(2) Writing articles about his virtues
(8) Making his statues

(4) Inscribing his messages on pillars of
marble

After his death, the thing which would
have pleased him was

(1) He was killed in India
(2) He was killed by an Indian

(8) India and Pakistan had already been
divided

(4) There was sorrow and mourning for
him, both in India and Pakistan alike

Function option in MS-Excel is located in

(1) View Menu
(2) Insert Menu

(8) Format Menu

P.T.O.



39.

40.

41.

42.

43.

44.

fea 3o A yrd fafa 4 999 ot
HAERI &

(1) Jo T¥o Yo
(2) Fo o

(3) o To go
(4) SUrg

ey e 2

(1) T ¥ fRrem

(2) M-\ BV e T BT
(3) T & B3 FEF 9 BT
(4) SrAUd B fa=T e

BRI ® U e 99T § fHaar e

(1) () @) (4)

Great men as Mahatma
Gandhi are always remembered.

(1) much
(2) thus
(3) therefore

(4) such
fr=ifea weal § @ o[E o ATt W

Part - I/A/21
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39.

40.

41.

42.

43.

44.

(4) Tool Menu

Which country accounts for the largest
share of Indian exports

(1) USA
(2) UK
(3) UAE
(4) Japan

Distance Education is

(1) Educating from Distance
(2) No face to face contact
(38) Distance has no barrier
(4)

4) Teaching without Teacher

How many seats Haryana has in the Lok
Sabha

(1) 12
@) 10
@) 9
@) 11

Three of the four figures are alike in
some way or the other and one is
different from the rest. You have to

choose the figure which is different
(odd)

(1) ) (3) (4)
Great men ..........e.c..... as Mahatma

Gandhi are always remembered.
(1) much

(2) thus

(3) therefore

(4) such
f=ifea weal § @ o[E o aTet I




P UEAI
(1) Da
(2) fearen
(3) WER
(4) afafer

45. =1 Qe S A srTaT @ e

BACE : DACE : : FACE :

(1) HASE
(2) LACE
(3) CASE

(4) HACE

3T (77 G 46 W 50 dF @ forv) -
[T S9SN Bl eYddh GGHY THUY
SR fed g yeml & G€l H W @El §av
g

Y JU HeUAT A UGl W T fIvg B
AP I MBI H IgAT & 3R S o
¥ RERTHR IU" YRIBTT gag § gaaﬂ
U9 fazgile § <ic omar 21 s @ Bf
fasm iR WrRey fiyear € 3R R s}
TOF Y9 H o9 g H g A 9@9R @1
WRTT Bl &1 Ife QT 5 8 O +fd W e
IraRe Tt &1 avE o, ﬁma'$ ProTed d
JUN AR @ T TAT SHD NI wm?rﬁa

ﬁﬂ%%i

46. Ife Hfg U7 HouaT b ¥ fI=Ror 7
T

(1) ST Siae FIR H §9R 8 ST

(2) 98 SR ¥ 9T TRAw W@l d3dl

(3) T8 HAR B g} 1A AN T 7
qrar

(4) IR ®fd ® Bfaar ¥ dfad gax
B AT W T X8 Sfrdm

Part - I/A/21

(13)

B UEEI
(1) Da
(2) fearen
(3) WER
(4) arfafer

45. What comes next in following letter

series

BACE : DACE : : FACE :

(1) HASE
(2) LACE
(3) CASE
(4) HACE

A3 (797 wear 46 ¥ 50 a@ P forv) -

[FlelfeqT Safdd TEner I eTYdd GGHY IR

JEMRT T I g9 & S~ # W el 9w

¥ fIERTHR U YRTHIT €ad A ST Y Y
Iue faggie # <ic amar 21 =i ¥ +fd @t
fasmg ok w@rey fiear 2 iR wWReT 8o I8
T 99 H a9 ged § I 9 99R @1
WRT &)al 21 Ife T 97 8 @ sfq o 3y
waRe Tt & aRe €, favg @ dared ¥
JUH IAMUR! W T AT SHP ERT AR HI g
3Fqa Ma 9 et e w_a fiaa a9 T8
PR AMI-SFTA YA T YO A FO &7 T
BT 2

46. Ife HfY U7 HouqT b ¥ fI=Ror 7
T

(1) SFHT Sia FIR H §9R 8 ST

(2) 98 SR ¥ 9T TRA W@l §a3dl

(3) 98 WAR B g} 1A AN T 7
qrar

(4) IR ®fd ® Bfdar ¥ dfad gax
B AT W T X8 Sfdm

P.T.O.



47.

48.

49.

50.

51.

3qERYT HT Sugad e e

(1) | &1 =rdar sid

(2) HUA-AId BT Ul B

(3) BfA MR BT FRTAT R
(4) HER Bl B B <

G e B for ygiger o @
(1) grdret

(2) MDA

(3) wat

(4) g

Bfd HUAT D IFT ATBIE F gAY

Sear & f&

(1) SUHT geT R BT &

(2) 9T HER ¥ Y NI A=l &

(3) 98 HId M DI AU WA FA
Irear 8

(4) PouA-dAle H fdEROT PRAT B B
MR BT = AT

TR ¥ ®fd &7 g 9RWENG BT ®

Fqife

(1) SS9 W I WHR$S FE-3a A
TOIRAT Tl &

(2) SU TR-TTEEM BT IR T TSl ©

(3) ¥MP TRE & WGl IR fIaRl &1 g5
IAD 79 H BT &1 ©

(4) BT & Aal | SIBT &I ¥R <&l
2 ad afafdm & fou sHar
BATAD F IR AMavTd BIaT @

MedT FHd 8
(1) |rIT® gfa |

Part - I/A/21
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47.

48.

49.

50.

51.

3qERYT HT SuYad e grm

(1) | &1 =fdar sid

(2) HUA-AId BT Ul Bfa

(3) BfA MR BT FRTAT TR
(4) HER Bl B B <A

G e B fo ugigar o= @
(1) Grdret

(2) ATPBT

(3) ¥t

(4) g

Bfd HUAT D IFT ABIE F gAY

Sear & f&

(1) SH®T geT R BT &

(2) 9T HER ¥ T NI A=l &

(3) 98 Had M DI AU WA FA
Irear 8

(4) PoUA-Ale H fdEROT PRAT B B
AR BT = AT

AOR # BT $T I WRHHFT BT B

FaifH

(1) SS9 W I WR$S FE&-3a A
TOIRAT Tl &

(2) S TR-TTEEM BT IR T TSl ©

(3) MP TRE & WGl IR IRl &1 g%
AP 7T H BIAT Y&l @

(4) BT & ATal T SABT &I ¥R &l
2 aa afafm & fou sHar
HAATATD § fIeROT Jravgd EIaT @

Goleman is associated with

(1) Social Intelligence



(2) HITHD g A

(3) WRRA §fg 4
(4) GoAHABD A
52. fr1 g <mmfien § @ 59 Ra @
Iwgufd 98 wR ORI ' &1 iR U
T
(1) amarfier AERda AETo
(2) =IENY THo ReridSed®
(3) =TI Ylo YHo WA
(4) AT o To WX
53. ERITT WReR 3 Rfda NoRl 3 ford
SRISRIR T AT o R o 8
(1) 1-11-2007 ¥
(2) 1-11-2006 A
(3) 1-11-2005 &
(4) 1-11-2004 &
54. | 2007 # 3BT § WOR @ W99 A
A9 3 IR & e e €
(1) e 4§
(2) U5 H
(3) =X H
(4) “TsoIRar H
55. SR a3 9 89 o & gy o auen
@ uea fas (7)) @ o9 R 7@ [
ST T BT &
T 37 -
?
A B [ ] D
Part - I/A/21

N o e | |

(2) Emotional Intelligence
(3) Spiral Intelligence

(4) Creativity
52. Which one of the following Chief Justice

of India enjoys the distinction of having
acted as President of India

(1) Justice Mehar Chand Mahajan
(2) Justice M. Hidayatullah
(3) Justice P. N. Bhagavati
(4) Justice B. N. Khare
53. Haryana Gouvt. has introduced
unemployment allowance for the

educated unemployed scheme with effect
from

(1) 1-11-2007
) 1-11-2006
(3) 1-11-2005
(4) 1-11-2004

54. The oldest human footprint in history
was found in 2007 in

(1) Egypt
(2) Peru
(3) Iran

(4) Nigeria

55. Choose one figure in place of question
mark (?) from the answer figures which
complete the series of the problem
Problem Figures :

[eeXe}
o
+
o

A B C D

figures

N e |



56.

57.

58.

Tell the 'type’ of underlined pronoun

I myself heard the bad remarks.

(1) Reflexive

(2) Emphatic

(8) Personal

(4) Possessive
frrafafed @ & fav weRl @ IR

fopey f@ W € 399 Q@ SRa wWeR
BT TIT BINIY

39T g2 —

(1) 9T &1 AR
(2) A SR
(3) faw] yurepv

(4) DERAIT IUATA

fr=fofRea 9w § e go7 qom @@
gagey (A) 92T (B) fd & €1 (A) Tem (B)
A & & I &1 g g8 ARe e
3 fow Y & S goaer fear i @

go7 : T 9 uefl Ssa ® ?
gy : (A) IR B Ssd B |
(B) FRfar w1gi St 21

Fls :

Part - I/A/21
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56.

57.

58.

Answer Figures :

Tell the 'type’ of underlined pronoun

I myself heard the bad remarks.

(1) Reflexive

(2) Emphatic

(8) Personal

(4) Possessive
frafafed @ & fav weRl @ IR

fopcy f@ W € 399 Q@ Sha wWeR
BT TIT BINIY

39T §eT —

(1) 9T &1 AR
(2) A SR
(3) faw] guTepv

(4) DERAT IUATA

Following problems has a Question and
two Statements (A) & (B). Use the
informations given in (A) & (B) to decide
whether the statements are sufficient to
answer the question choose the correct
Code for your answer.
Question : Does every bird fly ?
Statements : (A) Tigers do not fly.

(B) Hens do not fly.

Code :



(1) IfT T Pad (A) ¥ SR U7 ® B
=g (B) & &N |

(2) If qMT Pad (B) ¥ SR U B ©
fh=g (A) | &l |

(3) I 3T (A) T (B) IFI & HJad wU
I UI & & Sl Dy Yb a3
# ARt T 2

(4) I dHaa gaaed (A) o H Tl 7
qIT g (B) 39+ # Ul &l ¥ |
Instructions (For Q. Nos. 59 to 63) :
Read the following extract carefully and answer the
questions that follow by choosing correct answer :

I have just returned from the morning's outing
with a granddaughter who is developing, at an
early age, a passion for domestic economy. She
insisted at the open door of my work-room where
I had just begun to settle down to the habitual
daily output of words, that | should take her out
to gather blackberries, because she wanted the
cook to teach her how to make bramble jelly. As |
have a weakness for this conserve, | was not
reluctant to leave pen and paper, and submit
myself to this dimunitive tyrant.

We set off solemnly, with a mother and
grandmother to watch us go down the narrow
lane between the honeysuckle hedges. Before we
had lost sight of the watchers at the gate, the
dachshund came rushing down towards us,
whimpering with reproach at having been
forgotten. He hurled himself along and pulled up
gradually in front of us, to open at once into a
scheme of investigation, criss-crossing the land
from one hedge to another, with a nervous
frequency that must have tested his brakes to
the utmost.

59. 'We set of solemnly' because

the man realised his responsibility
it was a serious matter for the author
they wanted to avoid the frisky dog

the others were sorry to see them go

60. The author was not reluctant to leave pen

and paper because he was

Part - I/A/21
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If you can get the answer from (A)
alone but not from (B) alone.

If you can get the answer from (B)
alone but not from (A) alone.

If you can get the answer from (A) and (B)
together, although neither statement by
itself not suffices.

(4) If statement (A) alone suffices and
statement (B) alone not suffices.

Instructions (For Q. Nos. 59 to 63) :
Read the following extract carefully and answer the
questions that follow by choosing correct answer :

I have just returned from the morning's
outing with a granddaughter who is developing,
at an early age, a passion for domestic economy.
She insisted at the open door of my work-room
where | had just begun to settle down to the
habitual daily output of words, that | should take
her out to gather blackberries, because she wanted
the cook to teach her how to make brambile jelly.
As | have a weakness for this conserve, | was not
reluctant to leave pen and paper, and submit
myself to this dimunitive tyrant.

We set off solemnly, with a mother and
grandmother to watch us go down the narrow
lane between the honeysuckle hedges. Before
we had lost sight of the watchers at the gate, the
dachshund came rushing down towards us,
whimpering with reproach at having been
forgotten. He hurled himself along and pulled up
gradually in front of us, to open at once into a
scheme of investigation, criss-crossing the land
from one hedge to another, with a nervous
frequency that must have tested his brakes to
the utmost.

59. 'We set of solemnly' because

the man realised his responsibility
it was a serious matter for the author
they wanted to avoid the frisky dog

the others were sorry to see them go

60. The author was not reluctant to leave pen

and paper because he was

P.T.O.



61.

62.

63.

64.

(1)

fond of bramble jelly

too weak to decline

)

(3) very fond of the child

(4) submissive to tyranny

The dog's behaviour suggests all, except
(1)
@)
©3)
(4)

The dachshund's scheme of
investigation was that he intended to

(1)

inquisitiveness
great speed
fearfulness

purposefulness

explore both sides of the lane

@)

join the search for blackberries

)

discover why he had been left behind
(4)

make sure of the two people

The first few lines of the extract suggest
that the author is

(1) irritable
(2) timid
)

indulgent

(4)

lazy
Tt St A faaa srgmar 787 31 oft

(1) SR
(2) =9 HI Fq&<
(3) wiepfa® SR
(4) TR
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61.

62.

63.

64.

(1)

fond of bramble jelly

too weak to decline

)

(3) very fond of the child

(4) submissive to tyranny

The dog's behaviour suggests all, except
(1)
@)
)
(4)

The dachshund's scheme of
investigation was that he intended to

inquisitiveness
great speed
fearfulness

purposefulness

explore both sides of the lane

join the search for blackberries
discover why he had been left behind
make sure of the two people

The first few lines of the extract suggest
that the author is

(1) irritable
(2) timid
)

indulgent

(4)

lazy

Which one of the following was not
preached by Gandhi ji

Self dependence
Dignity of Labour
Cultural Basis

Self evaluation



65.

66.

67.

68.

PR P RIR B URIg dfa o
(1) R

(2) Jerdiig

(3) IH WM GEET

(4) M

feaer ufdures aers®e 3 78 fear o

T BT fH
IRIR® 3Maegdhar &1 a9
TeaRaT &1 H

EEICECANERT]

'R Ao i @
(1) urfre= |

(2) =P ¥

(3) ST IMARTS A

(4) HrAEr

SR 7 9 S99 i @ gt @ el
We 9 9w 7 & §@er & ot
HAT B
T9RT faF
. | R
Tl | S >
A B C
=T v -

——0
a
4
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65.

66.

67.

68.

The famous court poet of Akbar was

Birbal
Tulsidas
Bairam Khan Khankhana

Rahim

Which of the following was not propound
by Thorndike

(1)

Law of Exercise

@)

Law of Physical Needs

Law of Readiness

®3)
(4) Law of Effect

'Operation Silence' is related to

(1) Pakistan

(2) Iraq

Northern Ireland

3)

(4) Kosovo

Study the problem figures A, B and C
carefully. From the answer figures pick out
the figure which most appropriately
completes the series of problem figures

Problem Figures :

P.T.O.



69.

70.

71.

Give antonym for 'Ability’

(1) competence
(2) dissent
(3) incompetence

(4) descent

R o T B 91y AR 9= e
T ¥ 398 Uh vse fauiareff srerar
faei| 28, S9&T Ig= DIy

pas —

(1) <y

(2) Pud

(3) wfeha

(4) o

S = (Ruw) W & sifey o S9
e H 78 it B/

(1) 102

2) 210

(3) 320

(4) 365
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69.

70.

71,

Give antonym for 'Ability’

(1) competence
(2) dissent
(3) incompetence

(4) descent

R o T 3 91y AR 9= e
T ¥ 394 Uh vse fauiareff srerar
faei| 8, S9&T Ig= DIy

pas —

(1) <y

(2) Puq

(3) wfha

(4) peet

Find the odd number that does not
belong to same category

(1) 102
2) 210
(3) 320

(4) 365



A3 (o7 GEar 129 76 a% @ forg) -

[l S/qaryT @I e ydd  UGHY IR
IR &4 T4 Fe=l @ Sovl H W @l Gav

79 @ Ul B T @1 BrREr v & |5
ATATS AT ST X2 8, R 7 of ik Sem &
39 @l 9 W g3 3T H EER WUl 61 A
YR TAR Jdoud BT Grefl B 1 I8 #
EE B 9l P A B, e @ Gl
WERT & 3R 9 A f2wqd ok <a1 &1 3™
P qIT U YAfaaed B 1 Sy @ EH
o B UST dlel ol Y8 G Bl 3¥AX DI
IREFAT 1 & forg & fosdl fauiy o9 w
SIM B DI AELIHAT T8l & SR T & FB G
Td P B TN o |

72. IIR P ARTEAT Bl BT AMBY

(1) IR B IREAT AR § HA1 A1y
(2) TTR DI IREAT THIGAR FRIAYED
BT =AMLY

SYR |7 faemE 8§, del Al RwHEr
qY, g J B ARy

$IR P AR dT b fou BH
fell faolw M w® S @

JMaTIHAT 8l 8 3R T € Ho oA
Gd BT Bl TR &

A W W T § OEART THATS 6T
P ©

@)

(4)

73.

(1) #a-foar & veHHs 98T ©

(2) FAEd H HeQ PR drel URHA HF
(

3) BIR UAI H ARG IR TR
3detad &1 el B

@) @& ¥ w0 g § ool & e
TE-GH BT WERT &

7 B GOl DI G BT BrIRT DI SO

RET ©

74.

(1) R & 79 B @A B g @
ISl 3T V&l §

(2) B9R A3 9 gMfias

Part - I/A/21
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A3 (7% wear 12 ¥ 76 a% @ forv) -

™ aNaN (o
f=fofRaa  sraavor &1 &f[7Ydd  UghY SYY

JEMRT T I g9 & S~ 4 W el 9w

72. IR P ARFEAT BT BT AMRY
(1) SIR B IREHAT AfFSR F AT ALY
(2) S¥R P IR FHAGAR Fraaqds
A ARG
SYR |7 faemE 8, del A IRwHEr
U, g9 § BT AR

$IR P AR dT b foau BH
fell faolw M w® M @
JMaTIHAT 8l 8 3R T & Ho €d
Wd B B SR B

@ W W T § OEART THATS 6T
P ©

@)

(4)

73.

(1) #a-foar & veHs 98RT ©

(2) FAEd H HeS PR drel URH HF
(

3) BAR UAI @ ARG IR BAR
3detud &1 el B

@) @& ¥ w0 g # ool & e
YW BT TERT 8

7 B GOl DI G BT BIIRT DI SO

ET ®©

74.

(1) R & 5 B @A F g @
ISl IST Vel §

(2) B9R A= 9 Mfias

P.T.O.



75.

76.

77.

(3) ®{B ATAH AT IoT W& &

(4) TE 9 AR AN

$YqX oflgd H BAN] WAl PHel-Hal
Pl B

(1) IR 97 fomE 28, a8 &= 99
TANT ETIAT HRaT &

(2) IR W, 9=, AfR, ARSIE Fd
AEIAT BT &

(3) SYR B AT § AR AT bxal &

(4) SR FASd & FAY AF-w9 |, geu ¥
LI P WeRT © IR R onfe H
RIdD B WU § BRI BT Bl &

Suga Y@Ifea ufdmal § 99 e FE
T

(1) |u=l & g &1

(2) *dA S Bl

(3) wI B

(4) IR BT

fr=ifofRea 9w § vo ued qom @
ggaey (A) 92T (B) fd & €1 (A) 99T (B)
# q T I &1 yEn 98 AREa =
3 fog @ife & S goae faar w2
98 U & SR @ g |Hel B SO
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75.

76.

77.

(3) ®B ATAH AT IoT W& &

(4) TE 9 AR AN

$YGR oilgd H BAN] WAl Pal-Hal
Pl B

(1) IR 97 fomE 2, a8 &= 99
TANT ETIAT HRaT &

(2) TR W, 9=, AfR, ARSI Fd
AEIAT BT ©

(3) SYR TR AT § AR AT Bxal &

(4) SR FAGd & T AF-w9 4, geu H
LI P WeRT © IR R snfe H
RIdD B WU § BRI BT HRal &

Suga Y@Ifea el § 99 6 FE
T B

(1) |u=l & g &1

(2) *dA ST Bl

(3) wI B

(4) IR BT

Following problems has a Question and
two Statements (A) & (B). Use the
informations given in (A) & (B) to decide
whether the statements are sufficient to
answer the question choose the correct



SR B oY SUga Fie &1 T FIRY

99 : TP U b drad | A a e
21 3R A/ Fo 1 &1 @ faar
S 99T e’ do 2 B < X
e v a9 drems 15 e |

gFaey : (A) 3FR &I 5o 1 &Y I &R
fea S o e Fo 2 @t

g & s ar 20 fee A
URT ¥RT TS Tl BRI |

B) e o 1 W 3 fiFe
g fderar & Sa

4 e 9 Ao Fo 2 9 g™

frPperar 21

Bs :

(1) 3T MU Bad (A) ¥ SR T ® &
frg (B) & &1 |

(2) I T Bad (B) ¥ SR U1 ® &
fh=g (A) | &N |

(3) I (A) T (B) IFI W HYFT WU A IR
m@%mw%aﬁéwwaqﬁﬁr
AT T8 B

(4)?11%&%1?{@?@1 3o H Ol §

qAT Jaae ( amfrﬁwcgﬁ:lé‘rél

78. gwfaw (?) & fou ¥ e sasy

4 10 22 46 ?
(1) 56
(2) 66

(3) 76
4) 94

79. RAM Gfdr< 918 2
(1) s 3t 7R BT
Part - I/A/21
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78.

79.

Code for your answer.

Question : There are two drains in the
bottom of a water tank. If drain
No. 1 is opened and drain No.
2 is closed a full tank will be
empty in 15 minutes. How
long will it take to empty a full
tank if drain No. 1 and 2 are

both opened ?

Statements : (A) If drain No. 1 is closed
and drain No. 2 is

opened

takes 20

minutes to empty a full

tank.

(B) In 3 minutes as much

water flows through
drain No. 1 as flows
through drain No. 2 in 4
minutes.

Code :

(1) If you can get the answer from (A)

alone but not from (B) alone.

(2) If you can get the answer from (B)

alone but not from (A) alone.

(3) If you can get the answer from (A) and (B)
together, although neither statement by

itself not suffices.

(4) If statement (A) alone suffices and

statement (B) alone not suffices.

Select the right choice for question

mark (?)
4 10 22 46 ?

(1) 56

RAM is the acronym for

(1) Read All Memory

P.T.O.



(2) s vEF FEARY B
(3) USH VA HANI P
(4) Rad 099 78R &1

80. 3MT oM TAT Boad & HId PH
e o garef A @
(1) g
(2) e
(3) g
(4) diferqeeR
81. IR WeTd fagafiear & 7 feHar
ST AT
(1) ST |
(2) TpfelT |
(3) BT qaiHT A
(4) IM<IR® qAH- |
82. ST P! AU §3
(1) Hrqdi 2rdredl Yo €lo
(2) dfedl erdrel Yo Slo
(3) Uferdl wrareal dlo o
(4) IR AT dlo o
83. &g | wHwr I A, B, C UG D &I
T SR ffm ¥ 9 I @ gy
S el e W wnen R @ @
BT qof Har &
TR 7 :
P B |&:
A B c D
j:rr'ér:r-
o (= o= O = — ©
(1) (2) () (4)
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80.

81.

82.

83.

(2) Read Access Memory
(3) Random Access Memory
(4) Real Access Memory

The substance that is least prone to
catch and spread fire is

(1) Nylon
(2) Terrycot
(3) Cotton

(4) Polyester

Inter Examiner Variability can be reduced
with

(1) Grading

(2) Scaling

(8) Central Evaluation
(4)

4) Internal Evaluation

Islam was founded in
(1) 7th Century AD
(2) 5th Century AD
(8) 5th Century BC
(4) 3rd Century BC

Study the problem figures A, B, C and D
carefully. From the answer figures pick
out the figure which most appropriately
completes the series of problem figures

Problem Figures :

—o O_ _o




84.

85.

86.

Choose the correct meaning of the word
in inverted commas :

He is 'effeminate’ in his habits.

(1) refined
(2) womanish
(8) courteous

(4) regular

T A ™ TEnw A Uga IR B
foT IR faepew A W €, 98 e &1
T HITY

A 918 TTET AV g1 |

g9 AT AT g7 3ax, difdd ei-gor
1At |

(1) wU®H
() I9b
(3) Vel

(4) SUAT

1 4 9§ DI9-91 NG UTerq, F aAT
uferl & Red & 999 el o) quiar
g (Mal &1 PR BT ANRD
MMBR TEI T B)

iNe's

@ O O
O

D
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84.

85.

86.

Choose the correct meaning of the word
in inverted commas :

He is 'effeminate’ in his habits.

(1) refined
(2) womanish
(8) courteous

(4) reqgular

T A N TEnw A uga PR B
fot IR faepew A W €, 98 e o1
T HITY

A 918 TTET AV qIAT |

g9 AT AT g7 3ax, @ifdd ei-gor
1At |

(1) wUH
() I9b
(3) Vel

(4) SUAT

Which of the following diagrams best
depict the relationship between Pets,
Dogs & Birds (The sizes of circles do not
indicate relative sizes of above)

iNe's

@ O O
O

D

O P.T.O.



(4)

Instructions (For Q. Nos. 87 t0 96) :
Read the following extract carefully and answer the
questions that follow by choosing correct answer :

The tiny flame of the lighter flickered between us,
as perishable as the atmosphere which our
exaggerated politeness had created. The merest
breath would have extinguished it ; the one, the least
incautions gesture would have destroyed the other.
The cigarettes were both lighted now. We sat back
in our respective places. The stranger was still
doubtful of me. He was wondering whether he
hadn't gone too far, delivered himself to a bore, or a
crook. His timid soul was eager to retire. I, on my
side, had nothing to read. | foresaw a journey of
utter silence, lasting seven to eight hours. | was
determined to talk.

‘Do you know the time we arrive at the frontier.'

Looking back on the conversation, this question
does not seem to me particularly unusual. | had no
particular interest in the answer. | merely wanted to
ask something which might start us chatting, and
which wasn't at the same time, either inquisitive and
impertinent. Its effect on the stranger was
remarkable. | had certainly succeeded in arousing
his interest. He gave me a long, odd glance, and his
features seemed to stiffen a little. It was the glance
of a card player who guesses suddenly that his
opponent holds a very strong hand and he had
better be careful. At length, he answered, speaking
slowly and cautiously :

I'm afraid, | couldn't tell you exactly. In about an
hour's time, | believe.'

His glance, now vacant for a moment, was
clouded again. An unpleasant thought seemed to
tease like a wasp; He moved his head slowly to
avoid it. Then, he added, with surprising petulance :
"All these frontiers ........... such a horrible nuisance."

87. The comparison of stranger's thoughts to

a wasp suggest all ‘except’

(1)

distracting his attention

a source of bother

)
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Instructions (For Q. Nos. 87 t0 96) :
Read the following extract carefully and answer the
questions that follow by choosing correct answer :

The tiny flame of the lighter flickered between
us, as perishable as the atmosphere which our
exaggerated politeness had created. The merest
breath would have extinguished it ; the one, the
least incautions gesture would have destroyed the
other. The cigarettes were both lighted now. We sat
back in our respective places. The stranger was still
doubtful of me. He was wondering whether he
hadn't gone too far, delivered himself to a bore, or a
crook. His timid soul was eager to retire. I, on my
side, had nothing to read. | foresaw a journey of
utter silence, lasting seven to eight hours. | was
determined to talk.

‘Do you know the time we arrive at the frontier.'

Looking back on the conversation, this question
does not seem to me particularly unusual. | had no
particular interest in the answer. | merely wanted to
ask something which might start us chatting, and
which wasn't at the same time, either inquisitive
and impertinent. Its effect on the stranger was
remarkable. | had certainly succeeded in arousing
his interest. He gave me a long, odd glance, and his
features seemed to stiffen a little. It was the glance
of a card player who guesses suddenly that his
opponent holds a very strong hand and he had
better be careful. At length, he answered, speaking
slowly and cautiously :

'I'm afraid, | couldn't tell you exactly. In about an
hour's time, | believe.'

His glance, now vacant for a moment, was
clouded again. An unpleasant thought seemed to
tease like a wasp; He moved his head slowly to
avoid it. Then, he added, with surprising petulance :
"All these frontiers ........... such a horrible nuisance."

87. The comparison of stranger's thoughts to
a wasp suggest all ‘except’

(1)

distracting his attention

a source of bother

@)



(3) difficult to ignore

(4) stinging him into speech

88. The reason behind this exaggerated
politeness was that both men
(1) wanted to conceal their thoughts and
intentions
(2) intended to keep their relationship on a
formal level
(8) hoped to impress each other with good
manners and behaviour
(4) came to realise that they had
misjudged each other
89. From the effect on the stranger of the
question about the frontier it can be
inferred that he
(1) had no idea when they would arrive at
the frontier
(2) wanted to discuss removal of frontiers
(3) realised that the author was not familiar
with the route
(4) was willing to engage in a conversation
90. The stranger's glance was sometimes
vacant and sometimes clouded because
(1) the author was looking at him
(2) he was not interested in the author
(3) the author's mentioning the frontier
displeased him
(4) there was something suspicious about
the stranger-may be unpleasant
Part - I/A/21
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88.

89.

90.

(3) difficult to ignore

(4) stinging him into speech

The reason behind this exaggerated
politeness was that both men

(1) wanted to conceal their thoughts and
intentions

(2) intended to keep their relationship on a
formal level

(8) hoped to impress each other with good
manners and behaviour

(4) came to realise that

misjudged each other

they had

From the effect on the stranger of the
question about the frontier it can be
inferred that he

(1) had no idea when they would arrive at
the frontier

(2) wanted to discuss removal of frontiers

(3) realised that the author was not familiar
with the route

(4) was willing to engage in a conversation

The stranger's glance was sometimes
vacant and sometimes clouded because

(1) the author was looking at him
(2) he was not interested in the author

(3) the author's mentioning the frontier
displeased him

(4) there was something suspicious about
the stranger-may be unpleasant

P.T.O.



91. Suggest a suitable title for the extract
(1) The Mysterious Stranger
(2) Unwanted Frontiers
(3) The Stranger and the Author
(4) Hello Stranger
92. The comparison of the environment
between the two men to the flame of a
lighter implies that the relationship was
(1) hostile
(2) over-polite
(8) short-lived
(4) suspicious
93. The stranger's glance suggests that he
(1) realised that the author was trying to
start a conversation
(2) was always suspicious of straight
forward questions
(3) believed that the author knew more
than he revealed
(4) tried to conceal his true feelings
94. The author compares the stranger's
glance to that of a card player because
(1) he is very attentive
(2) heis concentrating on his cards
(3) like a card player he tries to guess that
his opponent has stronger cards, and
the game is tough
(4) he feels that the author is being over-
friendly
95. According to the author, by asking a
question about the frontier, had tried to
avoid giving the impression of
(1) arousing the stranger's nervous
reaction
Part - I/A/21
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91.

92.

93.

94.

95.

Suggest a suitable title for the extract

(1) The Mysterious Stranger
(2) Unwanted Frontiers
(3) The Stranger and the Author

(4) Hello Stranger

The comparison of the environment
between the two men to the flame of a
lighter implies that the relationship was

(1) hostile

(2) over-polite
(8) short-lived
(4) suspicious

The stranger's glance suggests that he
(1) realised that the author was trying to
start a conversation

(2) was always suspicious of
forward questions

straight

(38) believed that the author knew more
than he revealed

(4) tried to conceal his true feelings

The author compares the stranger's
glance to that of a card player because

(1) he is very attentive
(2) heis concentrating on his cards

(3) like a card player he tries to guess that
his opponent has stronger cards, and
the game is tough

(4) he feels that the author is being over-
friendly

According to the author, by asking a
question about the frontier, had tried to
avoid giving the impression of

(1) arousing the
reaction

stranger's  nervous



96.

97.

98.

99.

100.

(2) being disrespectful to an older man
(8) sounding like a boring companion

(4) interrupting the stranger's peace and quiet

Why did the stranger call the frontier a
nuisance

(1) Because frontiers are a source of
nuisance

(2) It does not effect the author

(8) The author had no problems in crossing
the frontier

(4) The stranger may have to face some
problems at the frontier

=1 A T afspfia seee &1 Rigr
Tl §

(1) @R gfe

2) Afhg IR

1 9 o9 waeHardT freror fafer @

(1) g fafey
(2) <FIRIe
(3) Wvlae

(4) wg adi

Rivg wvaar &1 v e &9 e
H urT T R

(1) WEER

(2) R

(3) famh
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96.

97.

98.

99.

100.

(2) being disrespectful to an older man
(8) sounding like a boring companion

(4) interrupting the stranger's peace and quiet

Why did the stranger call the frontier a
nuisance

(1) Because frontiers are a source of
nuisance

(2) It does not effect the author

(8) The author had no problems in crossing
the frontier

(4) The stranger may have to face some
problems at the frontier

Which of the following is not a principle
of Programmed Instruction

(1

Immediate confirmation

)
(2) Active Responding
(3) Self Pacing
(4) Feedback

The hygrometer is an instrument to
measure

(1) The relative density of liquids
(2) The purity of milk

(3) Relative humidity
(4

) Atmospheric pressure

Which of the following is a programmatic
approach of teaching

(1) Socratic Method

(2) Tutorial
(3) Project
(4) Group Discussion

'Mittathal', the Indus Civilization site has
been found in the district of

(1) Fatehabad
(2) Hisar
(3) Bhiwani

P.T.O.



101.

102.

103.

(4) ==

T oAl @ e < wE (2 o) A
TG AT €fed | ST SR W
SR form ¥ 9 *18 te sSfra i @rel
v () & Rrg g

G977 -

©®© :[@::Eﬂ 7

A
Sov faF ;.

Q|®

(1) )

=

@)

(4)

Give synonym for 'Veracity'
(1)
(2) justifiable
(3) seriousness
(

truthfulness

4) sincerity

fa W ol I b g W yw
g
SR —

Part - I/A/21

(30)

101.

102.

103.

(4) Sirsa

Find the relationship/analogy in the first
set (2 figures) of problem figures. Based
on the same analogy select the suitable
figure from answer figures to fit in the
blank space (?)

Problem Figures :

=) | 2

A B
Answer Figures :

Q||®

(1) )

Cc D

=

@)

(4)

Give synonym for 'Veracity'
(1)
(2) justifiable
(3) seriousness
(

truthfulness

4) sincerity

fa W ol I b v W yw
g
SR —



A5 (997 &A1 104 ¥ 108 TF P forv) -
[Aeiforféad Sganyr &l eqTTqdd  GEHY AUV
IEMRT e I goal & S~ § & Wl %
gfa

|qATS B g gaver Read & giearsd
21 3Uddd H URIR BT &I 9 T W HHI-
W 79 ¥ gdar S B O 7 IR WS
A BT A ft Mfae weE (Reaa) @ iR
IAT ST 81 98 Hel-Hifa oHar & f& Reyaa
S 9T 8, UTY @ HHTS Berdl-Gerd! Aol fh
W fagerar iR dER § 9 HX 98 U919 B
Yoar 21 I Fa # WEPT Saaad & fig
T PR uTw 8, 9 Read 99 smfae &4
P ¥ AT At

104. S99 ® sHfasar 4 I o &4 B
fore oam smavas @

(1) RPN B B AT
2) B9 T ¥ TR el g
3)

AT H Wedl Sidads & forw
THE ABR UTd B8 I sHfcradar
q gfaa e aa

Read O M BF BT T = AT

(4)

faaerar g @m=m A A7 991 R Jodr ©

(1) fgerar g =N 4 9% B8R AM
dodr ©

(2) I W BT -8 FHS oAl ®

(3) fagerd @ @) w9 | B W1 Bl
SEGIR

(4) fagerar 9 =R § %9 W A
Read o« &1 919 &R d93dT &

AT A9 H I gIAAT SUH HRAT B
(1) 1T 99 gE-Ae aed 8

(2) 9T URAR T BT &, Wd &l ool
grdr fR ) 99 HAd

(3) 3TUIdd H I I Tl Ahd D BRI
A9 # gerdr 3 S ©

(4) TRHR P 3[BT a1 <7 A1y

105.

106.

Part - I/A/21

(31)

A3 (797 W&qT 104 ¥ 108 GF @ forv) -
[A=TleTfyya S1qaver &l e ydd UeHY IR
STERT fed T gl @ SNl 4 W W8l S7W
gl

|qATS B g aven Read & gieared
21 3eudad ¥ URAR &1 &9 9 gom W HH-
FH 79 H gdAT S B W B SR WRBRI
AP &1 &g ot sHfae A (Read) @1 &R
Tl AT 81 98 Hell-Hifa o9ar & f& Reaa
ST UMY T, U9 P HAR Hodl-merdl T8, R
W faeEar iR =R § ®9 H I8 UY AR
Joar 21 I Fu § Jed ShaTads & oy
TH ABR T 8B, @ Rega I sHfas s+
BT ¥ T et |

104. S99 ® sHfuear 4 I o &4 B
fore oar smavas @

(1) RPN B B AT
2) B9 T ¥ TR YEeRl g
3)

qAST # Wedl Sidaags & forw
THE AR UTd 8 R sfcrdar
q gfad e wa

Read O 3Mfdd HF I T = A1

(4)

faaerar g @em & A7 991 R Jodr ©

(1) fgerar @ =N 4 9= B8R OAM
doar ©

2) A9 I BT TA-EF FH T ©

(3) fagerd @ @rR) 7= | B 61 Bl
SEGIR

(4) fagerar 9 =R § %9 wR A
Read o9 &1 99 &R dodr @

AT A9 H I gIAAT S HRAT B
(1) T 99 gE-Ae aed 8

(2) 9T YRAR T BIT 8, WA &8l ol
grar fR ) 99 S

105.

106.

(3) *UIdd H I I Tl Fhd D BRI
A9 # gerdr 3 I §

(4) TRBR P 3[BT a1 <7 A1

P.T.O.



107. Read a9 & A 7+11 foar T 8
(1) wife Reaa @ FAE  Hdl-THeld

o

TEl 8, g8 19 BT HHS BN ©

(2) Read o9 & ghs IH W) o W &
Jhal &

(3) Read o9 ¥ R ol W HER @l
AhdT ©

(4) Fife Read o1 =8 3ed H8) ©

Read &1 WicaIfied Hx1 9Tl BRUT HT-
T 8

(1) IMRI P -

108.

(2) | B g gawern, =g q gd
AP F T B g A

(3) T H ufdfted gax Y8 &I 3T
(4) 9 JIRM B AT BT SYART HRAT

A5 : (g9 wEgr 109 9 112 % @ forg) -

M fear T v 9aRaR &1 @4 qErar 21
faft=r =t &1 ey e gar = 9w
A = 9o

B = IqTAT Wl
C=mfﬁf@'_5f

D = 3 =

E =d<d

F =R & fo=mar
U®h URAR & AT HATRIS = 3080 To

109. TP AeN BR © PR R yRarR fea=r
@ Bear B

(1) 550 %o
(2) 360 %o
(3) 430 %o
(4) 465 %o

110. PR URIR P JTRIS 3T 3080 To &, Al
Part - I/A/21

(32)
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107. Rega a9 < R 947 fHar ™ 8

(1) wife Reaa @ FAE  Hdl-THeld

o

TET 8, g8 UI9 P! HHIS BN ©

(2) Read o9 & ghs IH W) oid W &
Thal &

(3) Read o9 ¥ R ol R HER @l
AHdT ©

(4) Fife Read =T =8 aed F8) ©

Reaad &1 WiaIfed Hx1 9Tl BRI HT-
T 8

(1) IMRI P -

108.

(2) | B g gawern, =g A gd
P H T B g A

(3) T H ufafted gax &8 & 3T
(4) 9 JIRM & ATETAT BT SYART HRAT

Instructions : (For Q. Nos. 109 to 112) :

The following diagram is showing budget of a
family. Study the various expenditures and
answer the following four questions :

A = Food
B = Conveyance
C = Spend on Clothing

D = Miscellaneous
E = Saving
F = House Rent

Monthly Income of a family = Rs. 3080

109. How much house rent is paid by the
family per month

(1) Rs. 550
(2) Rs. 360
(3) Rs. 430
(4) Rs. 465

110. If total monthly income of the family is
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111.

112.

113.

114.

115.

I8 YAP FEH I WR fha=r @ rar

(1) 400 %o
(2) 360 %o
(3) 370%o
(4) 325%0

TP HIE PUS W fHar @ sidr &

(1) 5300
(2) 545%0
(3) 580 %0
(4) 554 %o

DT PIoT H fHaq flft (@fer) @1 W
39 @ B BN

1) 60 3131

(1)

(2) 5539

(3) 46379

(4) 3639

ArsIRAfeRd Ffd &

(1) IS UIvor 9

(2) VRO |

(3) YT |

(4) TeATHA |

1 9§ 9 D1 999 QRET A ©

(1) HeITacH
(2) ORI

Part - I/A/21

111.

112.

113.

114.

115.

Rs. 3080, how much amount is spent on
conveyance per month

(1) Rs. 400
(2) Rs. 360
(3) Rs. 370
(4) Rs. 325

How much amount is spent on clothing
per month

(1) Rs. 530
(2) Rs. 545
(3) Rs. 580
(4) Rs. 554

How many degrees should be there in the
central angle of the sector for
miscellaneous expenses

(1) 60 degrees
(2) 55 degrees
(3) 46 degrees
(4)

4) 36 degrees

Cybernetics is associated with

(1) Feedback
(2) Motivation
(3) Reinforcement
(4) Evaluation

Which of the following is the oldest
dynasty

(1) Maurya
(2) Gupta
(3) Kushan
(4)

4) Kanva

Scanner operates on the principle of
(1) Refraction
(2) Reflection

P.T.O.
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116.

117.

118.

119.

(3) fourt /=

(4) Yof IR URTacA

T &= 9 fem-ufafes &1 yemas &9
@Al &

(1) @i & w4

(2) ST SIUTA

(3) xrsgufr

(4) T BT I8 ISTHA

frifed ar ol & @ 9 9= € ar
I A e o P (faww) 21 s« faww

NN

.
(1)

() )

The notice was published
all might know the facts.

(1)

in order that
(2) on condition that
(8) sothat

(4) whether

o W ey A Wgw W fag AR
e il ™ © w8 feey &1 799 &
Riv gl ale g gicar off agvrdl |

off dle cTewdy gel &l g ol |
Ol§ ACH-HCH BN Tol, s¥l off HIRT |
g MU J@HY, olle-Ulc AT/ |
(1) a4
(2) BB A
(8) WTd X4H

Part - I/A/21

(34)

116.

117.

118.

119.

Deflection

3)
(4)

Total Internal Reflection

The day-to-day administration of a union
Territory is looked after by

(1)
@)
@)
(4)

The Union Home Minister
The Lt. Governor
The President

A State Minister of Home affairs

There are three figures are similar or bear
some relationship with each other out of
four figures but one is different (odd)
from them. Find out the odd one out

N

NN

(1) ) (3)

The notice was published
all might know the facts.

(1)
(@)
3)
(4)

in order that
on condition that
so that

whether

R N e A Wgw W fag AR
e A ™ © w8 feey &1 799 o
Riv gl ale g gicar off agvrdl |

off dle cTcwdy gel &l g ol |
Ol§ ACH-HCH B Tol, s¥l off HIRT |
g MU J@HY, oAle-lc AT/ |
(1) a4
(2) BB

(3) T %9
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120.

121.

122.

123.

124.
Part - I/A/21

(4) TR ™A

SR form @ 99 i @t gy o wen
fE oA fas (?) @ WN R @ |
ST T AT B

T T faF :

—-—:—-> ~olo]A <—-2:——— ?
A B (o4 D
R . |
(1) () 3) (4)

FYER & TH

(1) I~=Id 724

(2) soideif-e 7efiF
(3) solfdgda 7+
(4) Sifftcdar 73N
HRA 3 G aeel & 9 A9 D
3 far & g fear
(1) Yo YHo Vo J

(2) HATSTI A

(3) oMo &

(4) ~goirervs |

gs & &1 w1 Fe<ayol @eor 78 &

(1) eI 3ar Jorell
(2) 3rEAgdH gfreT

(3) ST foremm

(4) < fRrm @ g

ERATOT 91 i Yo@e fea av wifda

(35)

120.

121.

122.

123.

124.

(4) BT ™

Choose one figure in place of question
mark (?) from the answer figures which
complete the series of the problem
figures

Problem Figures :

— P
° o)
g I Y R B D)
o [ o
-— —_—
A B C D
Answer Finlras -
R e |
o
—_ ole ORS¢ S elo
° :

(1) (@) ©) (4)

A computer is
(1) A Mechanical Machine

(2) An Electronic Machine
(38) An Electrical Machine

(4) An Optical Machine

India borrowed the idea of federal system
with a strong centre from

(1) US.A.
)
(3) Australia
(4)

Canada

New Zealand

Which of the following was not an
important feature of Wood's Despatch

(1) Grantin aid system
(2) Teachers Training
(3) Mass Education

(4) Promotion of Indigenous Education

Board of

Haryana Education was

P.T.O.
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gaIT o

(1) 1979
(2) 1969
(3) 1959
(4) 1965

125. &I @ 9T =) A, B, C UG D &I
g | SR o 9 s9 R @ gy
S el WRE 9 Wl RE @ @
®I qof ST 8l
THRT a7 :
Nl Bl| o]

A B C D
2B A |
(1) 2 (3) (4)

126. Every student has to abide ..................
the rules of the institution.
(1) by
(2) up
(3) with
(@) in

127. ¥ T TR B I A B U AR
Jofous vreg ol R 8, 399 98l Aoy
BT TIT BINIY
ol fAf-wma a1 faf @& sgEr T
g —
(1) erfrafaa
() faf-fovg
(3) ey
4) fam foveg

128. cgCIRA fIfyr v& SamEvT @
(1) 3ream® | R o

Part - I/A/21

(36)

125.

126.

127.

128.

established in the year
(1) 1979
(2) 1969
(3) 1959
(4) 1965

Study the problem figures A, B, C and D
carefully. From the answer figures pick
out the figure which most appropriately
completes the series of problem figures

Problem Figures :

Nz l|Bl =]
Bl X ®]

Every student has to abide
the rules of the institution.

(1) by
(2) up
(3)
@) in

f ™ 9T B "R A B Y IR

Jofous g ol R 8, 399 W8l fAeey
BT TIT BINIY

ol fQf-wma a1 fafr @& sgErR T
g —

(1) erfrafaa

() fafr-fovg
(3) ey

4) fam fovg

Tutorial Method is an example of

(1)

Teacher Controlled Teaching
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129.

130.

131.

132.

133.

(2) SHAIS e oF
(3) o= ffza R o
(4) gz Fraf=a Reor o

TAAH § FEIoR AR &
(1) fa sfaa

(2) = g R0 do Mo
(3) TIRAT Sflo 3o Jlo

(4) TRIRHA 3fTgo 3ARo Slo Yo

foreg-ame famey SufRera &
(1) R o va-as 4

2 % o va-geae #

@) f% v vg-uraR digve #
(4) SWRIFd T

SURTSEUfT fohsy AReIT &7 U qHIfa &

(1) XI5 |47

(2) I fdH™ uRyg
(3) ATSTHT 3MMATT

(4) SWRIGT ¥ q BIg 78]

=g A 99T R A, B UG C &I 9Hf3W |
SR o 9 9 o @ ghe o o
We @ g o g@er & gl
HRaAT &

TR o :

|

(1) (@) ®) (4)

fr=fafa fawfoa aea & @ @ ol
M BT AT BTG

(1) U = e

Part - I/A/21

(37)

129.

130.

131.

132.

133.

(2) Democratic Teaching
(8) Learner Controlled Teaching

(4) Group Controlled Teaching

The controller of insurance is at present
(1) Finance Secretary

(2) Deputy Governor RBI
(3) Chairman GIC
(4) Chairman IRDA

Clipart option is present in
(1) Only in MS-Word

(2) Only in MS-Excel

(8) Only in MS-Power Point
(4) In all the above

The Vice-President is the ex-officio

Chairman of

(1) Rajya Sabha

(2) National Development Council
(3) Planning Commission

(4) None of the above

Study the problem figures A, B and C
carefully. From the answer figures pick
out the figure which most appropriately
completes the series of problem figures

Problem Figures :

(1) ) 3) (4)

fr=fafaa fawfoa T & @ @ ol
M BT AT BTG

(1) U = e

P.T.O.
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134.

135.

136.

137.

138.

(2) 3R rem wRam g b Afdsy § ) g
THR

(3) TR PuT uH fAaar &M
(4) @iz Fe T

faer 79 Fomd Y 8 9Har ©

(1) Sr-urid

(2) Sie-uT<®

(3) H-uraid

(4) AR UTdi®

9 A Us B e wer st T g
Fqife

(1) &4 3ifRieH e §

(2) <areT AfRio Mderd &
(3) Pred Ss3iiaaTss Maad 8
(4) e AFRTagS Mderd
WAN &7 31ef 2

(1) dacs URAT wIead

(2) drgs URAT edd

(3) I TRAT edd

(4) Bt YRAT Acad

8

&9 ¥ 99| I A, B, € T§
W|Wﬁﬂﬁwﬁaﬁ
ST gl dRE 9 9w R @)
ST qoi =T B

D

é%

TR o :

[C

< —=0

©

o)

Which of them is a gerund

(1) Laughed

Part - I/A/21

(38)

134.

135.

136.

137.

138.

(2) 3R rem FRaT g b Afdsy § O g
THR

(3) TR PuT ud Aerar &M
(4) ®Is Ffe &

Which of the following can have negative
value

(1) T-Score
(2) Z-Score
(8) C-Score
(4) Stanine Score

It is not advisable to sleep under a tree at
night because of

(1)
)
®3)
(4)
WAN stands for

(1) World Area Network

(2) Wide Area Network
3)
(4) Whole Area Network

release of less oxygen
release of more oxygen
release of carbon dioxide
release of carbon monoxide

Western Area Network

Study the problem figures A, B, C and D
carefully. From the answer figures pick out

the figure which most appropriately
Problem Figures :

completes the series of problem figures

A B C D

Answer Fiaures :

(3) (4)

Which of them is a gerund

(1) Laughed



(2) Flew
3)
(4)

Reaching
Lovable

139. 0 ¥ "™ B T P AU IR I

yg o T & R 9 o gafgarh
g1 O v qIigardl T8 & SHeT a9+

S9 Wiie @I Bifey o faxe Rl o o
Sirel 9 frecaq awy yefRfa &var 8

qHTeT : FHEEt
(1) IR @ dqrpd
(2) PH T : SIT&T qoi-
(3) wIfa : de
(4) €Ie : FbYe

A5 (797 WeIT 141 145 TF @ forv) -

AefoRaa sgaver @I &9 W UY@HY  SHUY
ETRT fad 77 o= & Sovl 4 W Wel 9V

g
s &1 o [ SR R® A @SR
Sied) IMmia BT & Rife R gerR Ul |9ag

frarg @1 3R & Aol ¥ 841 © Sl aRE 99
Eﬁrwwzﬁwﬁvﬁﬁw%m
P AR
P WD

BT Toaw B forg aRsm &)1 vsar B;
ﬁ'l’sf aﬁﬁwmq@mﬁ;

SAfT R &R & AN, T "N, A8 99"
gﬁmwﬁamﬁamﬁ% I8 fads @R
gfg 3 w¥eT B

140.

141. 399 3R gfg & v &9 S 2

(1) YIF &7 8 ©
(2) o9 A =S FHS! URIET < bl ©
@) f9® IR gfg &1 TE FdEE T

QUM SUINT hX] ARG T %Q

(4) W9 g dAF, g "eAN, AS g

Part - I/A/21

(39)
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(2) Flew
3)
(4)

Reaching
Lovable

139. 0 ¥ "V & T P AU IR I

yg o T & R 9 o wafgarh
g1 O v qIigardl T8 & SHeT a9+

140. Select a pair that expresses the

relationship that is most similar to that of
capitalised pair
LIGHT : CANDLE : :
(1) Exercise : Strength
(2) Dieting : Over Weight
(3) Power : Battery
(4) Heat: Coil
Ao (7o Weqr 141 145 GF @ forv) -
AefoRaa s/qaver @l &g d YgHY  I0UN
3{7?7;73% fead 7@ gel @& SNl H H @&l IaY
qs &1 frT

R AR R A # R

el MHfYd Bar & H{ife < yeR U
Wﬁaﬁﬁﬁﬁﬁﬁw%eﬁw
AT P 99 RISAT B TWH doil 4 9FET &

mmaﬁmm$mqﬁ S HRAT
USdl 8; $AE @ TR ded § < ST ysdl
g; gAf R SR g dr, g HeAN, A

IR THART &M AMHNT HId 8; IR Jgl fadd
3R gfE 3 e B
141. 399 3R gfg & werm &9 2 @

(1) YA & Bl &

(2) o9 A =S FHD! URIET § Al ©
@) 9@ R gfg &1 T/ FEE T

QUM SUINT hX ] ARG T %Q

(4) 99 g AF, g "edn, Ae arw

P.T.O.



https://www.freshersnow.com/previous-year-question-papers/

142.

143.

144.

145.

AT BT & MBI IR &, T& W
TR a9 ok gfg @ werm 2

799 & e iR g W 989 ara urh

H Far 9HaT ©

(1) 9999 &1 =/ == 8 & urn of
Fad BIaT §

@) U BT W BN ST B I R,
qI= BT A1 BT ©

(3) UMl Wad g @7 R Tol 9 g
g, WY BT 7 W RISA P RB
ISl & AR @

(4) U SaE B RS GRFA F T g,
AT B W AR B WG ded H
FE IS TSl B

‘SIS R IS’ W T FHGT Jari)
T '

(1) o o R ¥ FI S, BT
BT AT TS I

SR H AT &

e o= =nfee

‘IBTS’ BT AN o & fou gRsm
HRAT BT B, $Hdls U ded & folv
) gRem S 8

(1) FifFs g9 forw a9 &1 gRsm T8l
DRAT Ysdl
Rifh X AR DI & Sleal FHS]

3Tl @
b R AT R BE W A Bl
AT o oid &

i AT BT A DI AR AN H
=< 7T ©

T P WA B UM BT T BN B
forg forasT vt H=e @fay

(1) R AR F 97 A12Y
(2) U ghg BT YANT HRAT AMMBY
(3) e @ TRB F&] AT =T
(4) &1 | HH o TRy

()

3)

(4)

Part - I/A/21

(40)

142.

143.

144.

145.

AL BT &I AHNT BT &, TE W
TR a9 ok gfg @ werm 2

799 & e iR g W 989 ara urh

H 7 §Har ©

(1) 999 &1 =/ == 8 & oo
el BT &

(2) 9T BT WG B ST B ST @,
HI= BT A1 BT ©

(3) UMl Wed e @7 R ol | g
g, WY BT F W RIsA P! RSB
ISl & WRTT @

(4) N HAE B WG GREA F T
AT B W BHAR B WG ded H
FE IS TSl B

‘SIS R ‘IS’ W T FHGT Iari)
T '

(1) o & e ¥ FI S, BT
BT AT TS I

STRY | AT &

e o= =nfee

‘IBTS’ BT AN o & fow gRsm
HRAT BIAT B, $Hdls U ded & folv
) gRem I 8

RIAN TART A AHAT Tl Bl ©

(1) P sHs foU 799 BT gRsm T2l
ST gl

(2) Hifd ¥ AR BT & Sloal FHS]
3 ©
(3) wifd g AT R BH A T B
PR AT B
(4) wifd 7g" DI A B AR 9 H
3T~ 31T &

T P WA B UM BT T BN B
forg foraaT vt H=e @fey

(1) R AR 4§ FI7 A12Y
(2) U gig BT YANT HRAT AM(BY
(3) e @ TRB T8 ANHT =T
(4) &1 | BH o= TRy




https://www.freshersnow.com/previous-year-question-papers/

146. Jafeqe faar & 78w @ 91 fRar 2
(1) gereiardl =
(2) gHfarar A
(38) yESTardr A
(4) Sregiardr o
147. QY% & U BT O ggal oal & oi4-
K|
(1) TS BT WRIYF gedl @
(2) TEIE HH BT § dAT WRIUA d¢al @
(3) TENTS gl § TAT WRIUA HH BT §
(4) TTEXTE TAT WRMOH 9T &
148. ®RIR W fHa< sveve 84 &
(1) U@
(2) =r
(3) o™
(4) IR
149. AFIRGAT W &RA S FE¥T o
aiRa 9 @1 AftreR fevs T 2
(1) 09 3
(2) @Y<g
(8) wrgufa
(4) |\e TT Y U wwel & U™
YT wU
150. <99 ¥ 991 I A, BTd C & 9Hf3T|
SR o @ s9 7 @ gy & o
We 9 9w I @ §@er & ot
HRal &
AT fa T -
A B C
Ses /
Part - a7 (1) (2) ) 4)

(41)

146.

147.

148.

149.

150.

Importance to individual differences was
strengthened by

(1) Realists

(2) Naturalists
(8) Pragmatists
(4) Idealists

The density of sea water increases as
1) depth and salinity decreases

(

(2) depth decreases and salinity increases
(8) depth increases and salinity decreases
(

4) depth and salinity increases

How may indents does a ruler bar holds
One

2) Two

Three

4) Four

Who is competent to prescribe
conditions for acquisition of citizenship

(1)

2) Parliament

Election Commission

President

4) Parliament and State Legislatures jointly

Study the problem figures A, B and C
carefully. From the answer figures pick
out the figure which most appropriately
completes the series of problem figures

vV

Problem Figures :

=
e,

=

@) @) v
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151.

152.

153.

154.

155.

156.

Choose the correct meaning of the word
in inverted commas :

Long-life expectancy can be had by
‘abstemious’' people.

(1) honest
(2) hard-working

(8) virtuous

(4) moderate in food and drink

LM

TU : WX

HAR-IR TH YO -F€ A JINT BT ®
(1) ®EfeT & forg

(2) vurs & forg

@) o W= & forg

(4) wIgd YR B & forg

WOR 4 999 A1 (@) $AR (Gear
T4 ARSTR) Rera @

(1) EH

(2) b H

(3) <Tdi H

4) sfoe o

=1 4 -0 o= wfa &

Part - I/A/21

(42)

151.

152.

153.

154.

155.

156.

Choose the correct meaning of the word
in inverted commas :

Long-life expectancy can be had by
‘abstemious’' people.

(1) honest

(2) hard-working
(8) virtuous
(

=

moderate in food and drink

What comes next letter

series
RT:WZ::
1

in following

(1)
@)
®3) LM
(4)

TU : WX

Ruler Bar in MS-Word is used for
(1)
)
®3)
(4)

Formatting
Printing
Inserting Pictures

Saving the file

The tallest Minaret in the world (Sultan
Hassan Mosque) is located in

(1)
(2) Iraq
3)

(4) Egypt

Iran

Turkey

Which of the following is mechanical
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157.

158.

159.

160.

161.

(1) fafra wfa
(2) eI wfa
(3) TiAIss W
(4) dAmfves

1 ggref § 9@ BN-9T PeARe B
TRE SUANT 78] fHar S Fodr

1) STITA

(1) (2) @)

Give synonym for 'Remonstrated'
(1)
) protested

(2
(3) apologised
(4) agreed

prayed

W7 foe fAeeal § 9 Afu-fowe @ 98
feeq &1 79 PIfve

GGIET —

(1) gag +4

(2) gayg + 3T

(38) YU +3Me

(4) g +

ST 99 3eE 8] 8, 99 Bifey

Part - I/A/21

(43)

157.

158.

159.

160.

161.

memory

(1)
) Rote Memory

(2
3)
(4) Semantic Memory

Photographic Memory

Episodic Memory

Of the following substances, the one that
cannot be used as an insecticide is

(1) DDT

) Malathion

(2
(8) Gamaxine

(4) Bleaching powder

Study the problem figures A, B, C and D
carefully. From the answer figures pick
out the figure which most appropriately

completes the series of problem figures
Problem Figures :

ZAN

A B C D

.

3) (4)

Give synonym for 'Remonstrated’
(1) prayed

(2) protested

(3) apologised

(4) agreed

7 fore fAeedl § 9 Afu-fowve @ 9
ey &1 799 PIfve

GGIET —

(1) gag +4

(2) gay + 3T

(38) YU +3Me

(4) g + 3

Find the odd word that does not belong

P.T.O.
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162.

163.

164.

165.

(1) <iex
(2) U™
©RETIPIL

(4) <4

BRI PR g1 SC 3R BC faenfiay
$ fafs uferf weme & i
B B Iy & S arelt anfefe wsrar

(1) &I o1 fear T ®
(2) &I "er fear T '
@) # P uRacd T2t fHar &
(4) BT a9 o forar

2007 T Bie! YRIT TAME SiT o

(1) ¥R A
(2) ®IRIT A
(3) STSHIRMT 7
(4) urfdea= =

ST favple & 9 A @ ad™
TE ®

(1) e arfi T IRd HRAT

(2) 9 fafYs=ar & 8T BT BF BT
(3) raReIg el w1 ggrT

(4) ITHRT BT B URT HRAT

P T YRS 8T o
(1) 58 dlolo

(2) 78 dlodlo

(3) 58 Toslo

Part - I/A/21

(44)

162.

163.

164.

165.

to same category

(1) Litres

(2) Grams

(8) Kilograms

(4) Tonnes

The rate of financial assistance of
Haryana Govt. for providing coaching to

SC and BC candidates for various
competitive examinations has been

(1) Increased
(2) Decreased
(8) No change
(4) Withdrew

Hockey Asia Cup Tournament held in
2007 was won by

(1) India
(2) Korea
(8) Indonesia

(4) Pakistan

Which of the following is not true of
population explosion

(1) Itinduces global warming
(2) It reduces loss of biodiversity
(3) Itincreases intraspecific competition

(4) Itinduces loss of vegetation

The Shaka era began in year

(1) 58BC
(2) 78BC

(3) 58 AD



https://www.freshersnow.com/previous-year-question-papers/

166.

167.

168.

169.

170.

(4) 78 Toslo

frifed I ol & @ 9 9= € ar
ST 9 e o e (faww) 21 s faww

%

(1) @) (3) (4)

Which of these is an abstract noun
(1) gold

(2) song

(3) audience

(

4) sympathy

Feeie sfece @ fd @, FAifs I8 ©

NCEIRED
2) wHl g1 Ugad
3) JfadfTs

(
(
(
(4) (1) @1 (3) T

Part - I/A/21

(45)

166.

167.

168.

169.

170.

(4) 78 AD

There are three figures that are similar or
bear some relationship with each other
out of four figures but one is different
(odd) from them. Find out the odd one

A

@) (4)

(1) (2)

Which of these is an abstract noun
(1) gold

(2) song

(3) audience

(4) sympathy

f W g ¥ gy gy
oo —

Find the odd number that does not belong
to same category

(1) 144
@) 78
() 25
4) 9

N

Introspection differs from Extrospection
in being

(1)
(2) Usedby all

@)

(4) Both (1) and (3)

Scientific

Subjective

P.T.O.
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171. Talgoivex} 7 YRd R &9 ATHHYT b
(1) 298 dlodlo
(2) 303 dlodlo
(3) 302 dlolo
(4) 327 Glodlo

172. THEX FAM A SR T ArEdr © af
JE B
(1) &fast srferTd erRoT
(2) g ARTH =R
(3) feurfede srferm araxor
(4) FEOMTHE AfTH T=IROT

173. R Riz o  free wfeyw
Rerag 2
(1) derdgel ¥
(2) WRIEEE |
(3) R #

(4) o= #

174. fo=ifed oR =l § @ 99 oy 99 €
T TP o o= 9 =1 21 atuar e
(=) o &1 g7 &

(1) () 3 (4)

175, e is he foolish, but also
obstinate.

(1) Though
(2) For

(3) Since
(4) Not only

176. frfaiad & foag Ry ™ e 4 @
e e g
g EFHIT Tl ﬂ:/’ SIKIES

Part - I/A/21

(46)

171.

172.

173.

174.

175.

176.

When Alexander invade India
(1) 298 BC

) 303BC
) 302BC
4) 327BC

@
3
(

If a person learns to drive a car who
already knows scooter driving, this is

(1)
@)
3)
(4)

Horizontal Transfer of Learning
Vertical Transfer of Learning
Bilateral Transfer of Learning

4) Negative Transfer of Learning

Nahar Singh International Cricket

Stadium is present in
Panchkula

2) Faridabad

Hisar

4) Sirsa

Three of the four figures are alike in
some way or the other and one is
different from the rest. You have to
choose the figure which is different (odd)

~

(1) (2) ) (4)

is he foolish, but also

obstinate.
(1) Though
) For

) Since

4) Not only

@
(3
(
frafafea @ fag iy ™ fawedl 4 4
el fdeen g+

O §FHIT 1T T AR |
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TI FYIN fag dIe SR |

(1) <
(2) ARaT
(3) =rg
(4) o
177. 4fasy fagm & a0 fafer 787 2
(1) ST dHAD
(2) wfgw do-Id
(3) WATETHR
(4) Tfbe faveryor
178. Sifdg 3 oo BT Fworma i off
(1) STl 7
(2) DT A
3) Ru= =
(4) <mged A
179. do e T=fea @
(1) araays fRrem |
(2) fde v et |
(3) fafdre fIrem <
(4) X e @
180. WAWN Al & yoM «1 wE (2 ) 4
T Ae/RAar €fed | S MR W)
TR ¥ 9 9 te sfud R @l
e (?) @ fag gfig
TR T a7 :
; % Lo :17?
A B (o] D
==
DY [P A
(1) ) (3) (4)
181. No sooner did she receive the telegram
.................. she left for home.
Part - I/A/21

(47)

177.

178.

179.

180.

181.

7T FYIN fag dle SR |
(1) =Te

(2) ARaT
(3) =g
(4)

Which of the following is not a method of
futurology

(1)
2) Matrix Technique

(
3)
(4) Logical Analysis

Delphi Technique

Interview

The Doctrine of Lapse was introduced by
(1)
)
®3)
(4)

Dalhousie
Canning
Rippon
Lytton

Wallace Wallin is associated with
(1)
)
3)
4)

Vocational Education
Guidance and Counselling
Special Education

4) Distance Education

Find the relationship/analogy in the first
set (2 figures) of problem figures. Based
on the same analogy select the suitable
figure from answer figures to fit in the
blank space (?)

Problem Figures :

?

(P TRV V]

)

No sooner did she receive the telegram
.................. she left for home.

P.T.O.
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182.

183.

184.

185.

186.

187.

(1) than

(2) when

(3) therefore

(4) moreover

frifea ol # U@ It a8, SHPT
AT PTG

5812 17 23 ? 38
(1) 26
(2) 28
(3) 30

(4) 29

arior faeafdenera wdwem wxga fd
up D)

(1) ¥RIRR RN gRI

(2) EHM AN §IRT

(3) BISRY IMANT gRI

(4) TSR SMATT FRT

THHE ¥ YR ¥ ST AT B Gl

) 28
2) 26
) 24
4) 21

T Y BME T IMSC WSS AMG S

Part - I/A/21

(48)

182.

183.

184.

185.

186.

187.

1) than
2) when
3) therefore

(
(
(
(4) moreover

fr=ifea vl ¥ Uah veg ac9H B, S9PT
T PHIIY

Select the right choice for question
mark (?)

58 12 17 23 ? 38

(1) 26
(2) 28
(3) 30

4) 29

Rural Universities were first proposed by

1) Mudaliar Commission
Radhakrishnan Commission
Kothari Commission

Saddler Commission

What is the total number of High Courts
in India presently

(1) 28
2) 26
(3) 24
@) 21

Which of the following does not give
emphasis to child

(1) Activity Centered Curriculum
(2) Experience Oriented Curriculum
3)

(4) Craft Centered Curriculum

Core Curriculum

Who is the author of the latest book 'A



https://www.freshersnow.com/previous-year-question-papers/

TS D d@d 8
(1) foua STa=
(2) o faarawy
(3) 3Ro Tlo &
(4) Yo 3Ro X9

188. SR 3 4 99 R &1 gg o wawn
g & wea fas () @ o9 R 7@ [
ST G BT B
AT 7 :
DD ?

A B c D
—_ e.—.
OD|HIE®
(1) ) (3) (4)
189. Uwfas (?) & forg wdl fawed IamEy
?
XD WC YA
(1) XY
(2) CD
(3) zB
4) wWv

190. . of the two boys was fined.
(1) Either
(2) Each
(3) Every
(4) Neither

191. A W I 3 oY o) o f@ W &
R 9 S o @ sMrede € afe
U I 78] 8, SAPT II- HIY

Part - I/A/21

(49)

188.

189.

190.

191.

View from the Outside'

(1) Bimal Jalan

(2) P.Chidambaram
(3) R.D. Pradhan
(4) U.R.Rao

Choose one figure in place of question
mark (?) from the answer figures which
complete the series of the problem
figures

Problem Figures :

\=/
C

@) (4

~

Select the right choice for question
mark (?)

?

wcC YA

.................. of the two boys was fined.
1) Either

Each

3) Every

4) Neither

fRA N o 9 fog aR o A W €
R 9 SO wee @ sMored® § oifee
TP e 78] B, SUDT IIT BT

P.T.O.



https://www.freshersnow.com/previous-year-question-papers/

192.

193.

194.

195.

196.

3) @R T

4) A A

Rigamt 31 Twaar beft off

(1) duorrE, Rig, Iqferam o

(2) doiE, fg, oI, ORI
(3) g =& & fFR

(4) g, U9E, S-SR, o

RIS, ] VIRId

IgeRe w9 § Afde Sty foramm
PHEATIT &

(1) e fAeR Sur™
(2) XMES HOR SUNTH
(3) RpR U™
(4) A SUNTH

(
(2) TSR Sd 7
(
(

o,

TEd AgRA feuiftied  fafaes
(NSDL) ST &RdTl &

(1) R dfvs

(2) Silo o 3ARo

(3) SAILIMG WK

4) fea=rR

Choose the correct meaning of the word
in inverted commas :

She appeared 'resplented' in her bridal
attire.

(1) beautiful
(2) charming

Part - I/A/21

(50)

192.

193.

194.

195.

196.

'Multi Sensory Instruction’

developed by
(1)
(2) Edgar Dale
(3) Keller
(4) Bloom

was

Morrison

Indus Valley Civilization was spread over
(1) Punjab, Sind, Baluchistan

)

(3) Along River Indus
(4)

4) Sind, Punjab, Jammu & Kashmir, U. P.,
Rajasthan, Gujarat

Punjab, Sind, Rajasthan, Gujarat

Writing objectives in Behavioural terms
also known as

(1) Robert Miller's Approach
(2) Robert Major's Approach
(3)

(4) Bloom's Approach

Skinner's Approach

National Securities Depository Limited
(NSDL) deals with

(1) Bearer bonds

(2) GDRs

(8) Electronic shares
(

4) Debentures

Choose the correct meaning of the word
in inverted commas :

She appeared 'resplented' in her bridal
attire.

(1) beautiful
(2) charming
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(3) wvery bright
(4)

decent

197. f=ifdwa Aeifea & fog aR e A
T ¥, Shrd fAeey &1 9a7 IR
u@a;quﬁ 99 e, I8 @l Havd Bl
(1) ®RA 9 AR Bl uR: de S
gSdl @

(2) fIf&rd qIar ddR &

(3) IrFAT B U M fA9wrar & Rl
71 ¥R &1 SR HRAT

(4) fa=m &7 YA HIAT

198. U& JU P 999 ifre fafa & wm
wfoera 95 ®
(1) 24
(2) 8
(3) 11
(4) 16

199. Give antonym for '‘Grandeur’

(1) grand

(2) simplicity
(3) ordinary
(4) splendour

200. WOR & 999 I T @
(1) e
(2) 3T
(3) ARy
(4) e

Part - I/A/21

(51)

197.

198.

199.

200.

(3) wvery bright
(4)

fr=ifea Aeife & oy ar e

T €, SRa faeea &1 799 HIvg

U@a;qa‘m#éaﬁa I8 Il FGNd Bl

(1) BRA U8 A B U do g9
gl §

(2) frf&rd BIar ddR &

(3) IFFAT B U A fAOwar & &Rl
o ¥R BT BRI BHRAT

(4) fI=Im &1 YA HIAT

decent

What is the highest percentage of
exports to a single country

(1) 24
) 8
3) 11
4) 16

Give antonym for 'Grandeur’
(1)
@)
®3)
(4)

grand
simplicity
ordinary

splendour

The longest river of the world is
(1) Nile

)
)
(4)

Amazon
Mississippi
Volga

P.T.O.



